
Los	
  problemas	
  de	
  la	
  
sociedad	
  industrial	
  

El	
  movimiento	
  obrero	
  
	
  



Conciencia	
  de	
  clase	
  
Con	
  la	
  Revolución	
  Industrial	
  las	
  anteriores	
  formas	
  de	
  trabajo	
  se	
  vieron	
  forzadas	
  a	
  
desaparecer,	
  imponiéndose	
  el	
  liberalismo.	
  



Condiciones	
  del	
  Proletariado	
  
•  No	
  existían	
  medidas	
  de	
  seguridad	
  en	
  las	
  fábricas.	
  
•  Se	
  les	
  trataba	
  con	
  despotismo,	
  sufriendo	
  malos	
  tratos.	
  
•  Las	
  jornadas	
  alcanzaban	
  las	
  16	
  horas	
  



Condiciones	
  del	
  Proletariado	
  
•  Los	
  salarios	
  eran	
  bajos.	
  
•  No	
  había	
  seguridad	
  social	
  ni	
  paro.	
  
•  Los	
  niños	
  y	
  mujeres	
  cobraban	
  menos	
  que	
  los	
  hombres.	
  
•  Las	
  tareas	
  eran	
  repetitivas	
  y	
  monótonas.	
  



Comienzo	
  del	
  movimiento	
  
obrero	
  

Gran	
  Bretaña	
  



Comienzo	
  del	
  movimiento	
  obrero	
  en	
  
Gran	
  Bretaña	
  

El	
  comienzo	
  del	
  movimiento	
  obrero	
  es	
  reconocido	
  por	
  sus	
  acciones	
  violentas	
  y	
  
motines	
  populares	
  

El	
  luddismo	
  fue	
  el	
  movimiento	
  más	
  importante	
  en	
  el	
  que	
  los	
  obreros	
  destruían	
  
todas	
  las	
  máquinas.	
  

Se	
  crearon	
  las	
  primeras	
  asociaciones	
  dentro	
  de	
  las	
  fábricas	
  pero	
  el	
  Estado	
  las	
  
prohibió	
  aunque	
  siguieron	
  reuniéndose	
  en	
  la	
  clandestinidad	
  

Más	
  tarde	
  surgió	
  el	
  movimiento	
  cartista	
  cuyo	
  principal	
  objetivo	
  fue	
  la	
  búsqueda	
  
de	
  leyes	
  favorables.	
  



El	
  socialismo	
  utópico	
  
1848	
  



Características	
  
comunes:	
  
•  Procedencia	
  burguesa.	
  

•  Carácter	
  generoso	
  y	
  
desinteresado.	
  

•  Creencia	
  en	
  un	
  mundo	
  mejor.	
  

•  Concepción	
  del	
  trabajo	
  como	
  
única	
  forma	
  de	
  generar	
  riqueza.	
  

•  Creación	
  de	
  sociedades	
  perfectas.	
  

•  Sentido	
  de	
  la	
  moral.	
  



Socialismo	
  utópico	
  

Inglés	
  

Ê  Máximo	
  representante:	
  Rober	
  
Owen.	
  

Ê  La	
  educación	
  es	
  la	
  pieza	
  
fundamental	
  para	
  el	
  cambio.	
  

Ê  Creación	
  de	
  una	
  Bolsa	
  
nacional	
  equitativa	
  para	
  
obreros.	
  

Francés	
  

Ê  Primera	
  etapa:	
  Sain-­‐Simon,	
  
Fourier	
  y	
  Cabet	
  fueron	
  los	
  
principales	
  representantes.	
  

Ê  Segunda	
  etapa:	
  Blanc,	
  
Blanquiy	
  Proudhon.	
  

Ê  Marcada	
  por	
  las	
  continuas	
  
revoluciones.	
  



Marximo	
  
O	
  Socialismo	
  científico	
  



El	
  maxismo	
  

•  Socialismo	
  científico.	
  

•  Sus	
  principales	
  fases	
  son:	
  
•  El	
  materialismo	
  filosófico.	
  

•  La	
  crítica	
  a	
  la	
  economía	
  capitalista.	
  

•  La	
  praxis	
  del	
  socialismo	
  científico.	
  



El	
  materialismo	
  filosófico	
  e	
  histórico	
  

La	
  filosofía	
  debía	
  consistir	
  en	
  la	
  transformación	
  del	
  mundo,	
  para	
  ello	
  es	
  
necesario	
  el	
  conocimiento	
  de	
  la	
  verdad.	
  Para	
  ello	
  Karl	
  Marx	
  creó	
  el	
  
materialismo	
  histórico,	
  basado	
  en:	
  

1.	
  La	
  estructura	
  económica.	
  

2.	
  La	
  lucha	
  de	
  clases.	
  



Crítica	
  a	
  la	
  economía	
  capitalista	
  

En	
  el	
  mundo	
  capitalista	
  lo	
  único	
  que	
  genera	
  riqueza	
  es	
  el	
  trabajo,	
  pero	
  existen	
  
diferencias	
  entre	
  el	
  empleado	
  y	
  el	
  capitalista:	
  

El	
  empleado	
  recibe	
  parte	
  del	
  valor	
  del	
  dinero	
  de	
  lo	
  que	
  ha	
  producido,	
  
mientras	
  que	
  el	
  capitalista	
  se	
  queda	
  con	
  el	
  resto	
  (plusvalía).	
  

Se	
  formuló	
  la	
  ley	
  de	
  la	
  concentración	
  económica,	
  en	
  la	
  que	
  los	
  pobres	
  serán	
  más	
  y	
  
más	
  pobres	
  y	
  los	
  ricos	
  menos	
  y	
  más	
  ricos	
  



El	
  socialismo	
  científico	
  

El	
  Estado	
  es	
  el	
  instrumento	
  de	
  dominio	
  de	
  la	
  clase	
  de	
  los	
  opresores	
  sobre	
  los	
  
oprimidos.	
  

Por	
  ello,	
  era	
  necesario	
  destruir	
  al	
  Estado.	
  Para	
  ello	
  era	
  necesario	
  que	
  los	
  
obreros	
  tomasen	
  conciencia	
  de	
  sus	
  miserias	
  y	
  de	
  las	
  posibilidades	
  que	
  les	
  
ofrecía	
  la	
  unidad	
  de	
  acción.	
  

Si	
  esto	
  se	
  diera,	
  se	
  daría	
  paso	
  a	
  LA	
  DICTADURA	
  DEL	
  PROLETARIADO,	
  el	
  
resultado	
  final	
  acabaría	
  en	
  la	
  sociedad	
  comunista.	
  



El	
  anarquismo	
  
El	
  creador	
  del	
  anarquismo	
  es	
  Mihail	
  
Bakunin.	
  

Se	
  trata	
  de	
  una	
  doctrina	
  que	
  rechaza	
  
toda	
  forma	
  de	
  organización	
  estatal.	
  

Según	
  Bakunin,	
  era	
  necesaria	
  una	
  
revolución	
  espontánea.	
  	
  

Se	
  dividió	
  en:	
  

	
  



Anarcocomunismo	
  

Creado	
  por	
  Piort	
  Kropotkin	
  

Proponía	
  la	
  socialización	
  de	
  
los	
  beneficios	
  y	
  el	
  principio	
  
de	
  dar	
  a	
  cada	
  uno	
  según	
  su	
  
capacidad	
  y	
  sus	
  
necesidades.	
  



Anarcosindicalismo	
  

Admitía	
  la	
  organización	
  de	
  la	
  sociedad	
  en	
  unidades	
  profesionales	
  
autónomas	
  y	
  agrupadas	
  en	
  federaciones	
  nacionales.	
  

Un	
  ejemplo	
  es	
  la	
  CNT	
  española	
  



Las	
  Internacionales	
  



La	
  Primera	
  
Internacional	
  

Ê  Las	
  bases	
  de	
  la	
  
organización	
  fueron:	
  
Ê  Federaciones	
  nacionales:	
  

agrupaban	
  a	
  las	
  
sociedades	
  o	
  asociaciones	
  
de	
  trabajadores	
  de	
  cada	
  
país.	
  

Ê  Congreso,	
  máximo	
  órgano	
  
de	
  decisiones.	
  

Ê  Consejo	
  General:	
  
encargado	
  de	
  ejecutar	
  las	
  
decisiones	
  del	
  Congreso	
  

Fue	
  impulsado	
  por	
  Marx	
  y	
  Engels.	
  

El	
  proletariado	
  se	
  modernizó.	
  

Se	
  crearon	
  uniones	
  profesionales	
  
para	
  reivindicar	
  mejoras	
  en	
  las	
  
condiciones	
  de	
  trabajo.	
  



La	
  Primera	
  Internacional	
  

Ê  La	
  comuna	
  de	
  París	
  

En	
  Francia	
  se	
  instaló	
  la	
  
Tercera	
  República	
  

Los	
  movimientos	
  radicales	
  
provocaron	
  una	
  insurrección	
  y	
  
se	
  hicieron	
  con	
  el	
  poder.	
  

Se	
  creó	
  La	
  Comuna	
  donde	
  se	
  
reconocieron	
  muchos	
  
derechos.	
  

Ê  La	
  quiebra	
  de	
  la	
  Primera	
  
Internacional.	
  

Los	
  bakunistas	
  fundaron	
  una	
  
Internacional	
  Antiautoritaria	
  

El	
  Consejo	
  General	
  se	
  trasladó	
  
a	
  Nueva	
  York	
  

Marx	
  y	
  Engels	
  llegaron	
  a	
  la	
  
conclusión	
  de	
  que	
  ya	
  había	
  
cumplido	
  su	
  objetivo.	
  



Nuevas	
  formas	
  de	
  lucha	
  
obrera	
  



Nuevas	
  formas	
  de	
  lucha	
  obrera	
  

Se	
  crearon	
  nuevas	
  asociaciones	
  como:	
  sindicatos,	
  partidos	
  obreros	
  y	
  cooperativas.	
  

Los	
  sindicatos	
  pretendían	
  el	
  control	
  de	
  las	
  empresas	
  y	
  utilizaban	
  la	
  huelga	
  general	
  
como	
  método	
  de	
  presión.	
  Se	
  dieron	
  dos	
  líneas	
  de	
  actuación:	
  

1.	
  Socialista,	
  de	
  carácter	
  reformista	
  ligada	
  a	
  los	
  partidos	
  obreros.	
  

2.	
  Anarquista,	
  mas	
  revolucionaria	
  y	
  apartada	
  de	
  la	
  política.	
  



La	
  Segunda	
  
Internacional	
  

Ê  Instituciones:	
  
Ê  Congreso	
  trianual,	
  órgano	
  

al	
  que	
  recurrían	
  los	
  
soberanos	
  de	
  los	
  partidos.	
  
Encargado	
  de	
  tomar	
  las	
  
decisiones	
  generales.	
  

Ê  Buró	
  Socialista	
  
Internacional,	
  integrado	
  
por	
  dos	
  miembros	
  de	
  cada	
  
partido.	
  

Ê  Comité	
  Ejecutivo	
  y	
  
Secretariado	
  Permanente,	
  
encargados	
  de	
  garantizar	
  
el	
  cumplimiento	
  de	
  las	
  
resoluciones	
  adoptadas	
  en	
  
el	
  Congreso.	
  

Se	
  formó	
  tras	
  la	
  reunión	
  de	
  
representantes	
  de	
  partidos	
  y	
  
organizaciones	
  en	
  Paris.	
  

Surgió	
  con	
  la	
  intención	
  de	
  coordinar	
  
las	
  intenciones	
  de	
  los	
  sindicatos.	
  

Querían	
  una	
  legislación	
  social	
  más	
  
avanzada,	
  la	
  implantación	
  de	
  la	
  
jornada	
  laboral	
  de	
  ocho	
  horas…	
  	
  



Problemas	
  de	
  la	
  Segunda	
  Internacional	
  

1.  El	
  conflicto	
  con	
  los	
  anarquistas,	
  que	
  acabaron	
  siendo	
  expulsados.	
  

2.  El	
  enfrentamiento	
  entre	
  los	
  partidos	
  políticos	
  y	
  sindicatos.	
  

3.  El	
  revisionismo.	
  El	
  capitalismo	
  había	
  avanzado	
  y	
  creado	
  nuevas	
  
legislaciones	
  mientras	
  la	
  teoría	
  comunista	
  de	
  Marx	
  no	
  se	
  estaba	
  dando	
  
en	
  la	
  realidad.	
  

4.  La	
  Primera	
  Guerra	
  Mundial.	
  



El	
  catolicismo	
  social	
  



El	
  catolicismo	
  social	
  

El	
  papa	
  León	
  XIII	
  estableció	
  nuevas	
  relaciones	
  con	
  los	
  Estados,	
  involucrándose	
  
en	
  grandes	
  problemas	
  de	
  la	
  época.	
  

León	
  XIII	
  publicó	
  la	
  encíclica	
  en	
  la	
  que	
  se	
  expresaron	
  los	
  siguientes	
  puntos:	
  

1.	
  Afirmación	
  del	
  magisterio	
  de	
  la	
  Iglesia	
  para	
  abordar	
  la	
  cuestión	
  social.	
  

2.	
  Rechazo	
  del	
  socialismo	
  y	
  de	
  la	
  lucha	
  de	
  clases	
  por	
  su	
  violencia.	
  

3.	
  Necesidad	
  de	
  la	
  intervención	
  estatal	
  a	
  favor	
  de	
  los	
  obreros.	
  

4.	
  Condena	
  los	
  excesos	
  del	
  capitalismo.	
  

5.	
  Constitución	
  de	
  organizaciones	
  obreras	
  católicas.	
  




